ropt? Applying
Knowledge

Section:

Name

Use with textbook pages 312-321.

Nuclear fission and fusion reactions

Remember the following two ruies when working with nugcltear equations:
I The sum of the mass numbers does not change.
IL. The sum of the charges in the nucieus does not change.

Identify each nuciear equation (nucleat fission or nuclear fusion) and then complete the
puclear equation.
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(fso with textbook pages 3i2-321.

Nuclear reactions

Match each N
reaction on the iefl with the correct Pescriptor on
the right. Each Descriptor may be used more than
onge.

umber on the Diagram of a nuctear

A, energy
B, neutron

G. parent isotope
9, nuctear fusion
®i g, nuclear tuslon
E. daughter isctope

7. What is the symbol for a proton?

1
8. Which of the following is the source of the
Sun's encrgy?

A. convection

8. nuclear fusion
¢. suclear fission
B. CANDU reactor
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9. Which of the following represents 2 nuclear

fusion equation?
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0. What is the total mass number?
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1. How many neutrons are released in this
nuclear equation?
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12. What isotope balances this nuclear
reaction?
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13. What is needed for nuclear fusion 10
oceur?
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